FHRERHRRETHE FRHR

B RI74E06 5308 RIREHE 253, 900kg
Hx REHEAH 214, 500kg
F&E HRFTHES TR AE AniE FEH Zik B [BREHE HRFcE4E
(kg) (kg) =1E B =&
EWZ A 12,000 |[&Y 0 — — —
A% ER 3| EHE 10kg 12,000 1,404 —1{ 1,080
ZA LA 15,000 [&Y 0 — — —
X ER 5| FHEE 10kg 15, 000 —| 2,700 —
(< &L 6,000 |t Y 0 — — —
A% ER 3| EHE 12kg 6,000( 1,296 — 648
FrRY 13,000 [&Y 0 — — —
X ER 5| BER 10kg 13,000/ 1,296 — 648
F5NAZES 6,000 |t Y 0 — — —
A% ER 3| N 170g 6, 000 119 — 108
h&E 11,000 |[&Y 0 — — —
Xt ER 5| /37! bke 11,000 2,376 —1{ 1,620
25 4,000 |€Y 0 — — —
A% ER 3| N 100 g 4,000 — 65 —
L& R 15,000 [&Y 0 — — —
Xt ER 5| EHE 10kg 15,000 1,944 —1 1,728
EpSY 6,000 |t Y 0 — — —
A% ER 3| N bkg 6, 000 —| 2,160 —
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PHTF0S 08 LR NE 253, 900kg
B RFEEHEAT 214, 500kg
*5H REHEH | TEAE [ * =4 | B |[REHE R4 %8
(kg) (kg) =iE H{E ZiE

LA EL 1,000 &Y 0 __ _ —
MXERE FEE 150 g 1,000 162 — 86
ZOE 1,000 [&Y 0 _ ___ .
A ERE| EHE 200 g 1,000 86 — 76
FY—2F7 2585 1,000 [&Y 0 _ - -
MXERE HAE 100 g 1,000 184 — 22
ANESSRS 0 |EY 0 —- — —
A EE| 0 — — —
IPRAES 0 [#Y 0 _ - -
MxEE 0 — — —
H-—LAZR 1,000 [&Y 0 — — -
A EE| EHE Akg 1,000 1,404 — 864
=k b 3,000 [+Y 0 — _ .
MXERE 418 200 g 3, 000 — 108 —
SHVAITA 0 [&#Y 0 - _ -
A ERE| 0 — — —
E545C2L 2,000 [+Y 0 _ - -
MXERE HAE bkg 2,000 —| 1,404 —
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BIRFTHE 253, 900kg
HX ERFEEHESE 214, 500kg
T&E BREHE | ZEAE L85 FEH = | B |REHE AR5 £ 5E
(kg) (kg) =iE th{E it
ZDHhFFE 50,000 |&73% — 50, 000 - _ —
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BRI 253, 900kg
RR RS E A S 34, 400kg
Er= REMEH | SEAE S8 TEH =% | Bl |BENE IR 258
(kg) (kg) =iE H{E ZiE

DA 1,000 €Y ol — 4 =
AREImEl AR K518 350 ¢ 1000  —|  sa —

A 0 |2y ol  — 4 —
AR ERE | - I I —

T L—F I — 500 | Y ) S I E—
AR ARG w7 T 17ke 5000 —| 6480 —

NFF 3000 |2 Y ol — 4 -
AA%ERE | JAUEY 13ke 3000 3.888  —| 3 240

LT 500 | U ) I E—
AR ARG F1) 17k 5000 —| 8640 —

1% 0 ey ) S I R—
AA%ERE | - I I —

RES 1,000 €Y ) S I E—
EREE | AR 350 g 1,000 —|  sea -——

S HAIE 2400 |2 Y ) S I E—
AA%ERE | L 200g | 2400 —| 540 —

=D 5 000 | Y ol — 4 =
AREE | 7R e Okg 500 —]| 16,200 —
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B RI74E06 5308 RIREHE 253, 900kg
RR RS E A S 34, 400kg
F&E HRFTHES TR AE AniE FEH Fik B [BREHE BR5T &8

(kg) (kg) =fE & =il
EAAV 10,000 |t Y 0 — — —
X EE| FBe 15ke 10, 000 —| 5,400 —
ALoo 500 |€Y 0 — — —
%S| A—ZRESUT 17kg 500 —| 8,640 —
RAVT YT 500 |[€Y 0 — — —
FAxTERE| J4YEY 10kg 500 — 4,320 —
4 TI—Y 0 &Y 0 — — —
%S| 0 — — —
ZOHEE 10,000 |&75:% — 100000 — — —
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{AERE M E 253, 900kg
Z Dt REME AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




